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FACULTY OF COMMERCE & BUSINESS MANAGEMENT 

B.Com. (Gen/CA/Bus.Analytics) CBCS II-Year (III-Semester) Regular Examinations, Dec-2022/Jan-2023 

Advanced Accounting 


Time: 3 Hours                      Max Marks: 80 

 

 

               SECTION-A     (5x4=20 Marks) 

 Answer any Five questions from the following 

 
 

1. What is sacrificing ratio? 

  

  

2. X and Y were in partnership and agreed to dissolve. The assets realized Rs. 75,000/- Liabilities 

were Rs. 65,000/- X capital Rs. 10,000 and Y’s capital Rs. 15,000. They share profits and losses 

3:1. Show realization Account. 

 

 XY
/- /- X Y
3:1.

  

3. ‘P’Ltd. Issued 700 Equity shares of Rs. 100 each for cash at a discount of Rs. 20 on each. Write 

journal entry for issue and show how the corresponding amounts appear in the balance sheet      

of the company 

 

 ‘P’Ltd700 
 


 

4. Suman Ltd. Started business on 1-4-2015 but got incorporated on 1-7-2015 for the year 

 ended on 31-03-2016. Sales were Rs. 11,16,000 and cost of goods sold was Rs. 8,17,200. 

 Decide the gross profit as profit prior to incorporation and post incorporation. 

 

 

 

  

5. What factors affect the valuation of shares? 

 
 

6. Average capital employed 

   

7. Partnership deed. 

 
       

8. Explain the process of Dissolution of a firm. 





Contd…..2 
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             SECTION-B    (5x12=60 Marks) 

     Answer all the following questions 

 
 

9.  (a) ‘P’and ‘Q’ are in partnership sharing profits and losses equally they agreed to take ‘R’with 

1/4
th
 share and bring capital Rs. 50,000. 

PQ 1/4RR  
   Balance Sheet of P&Q on 31-12-2015 

Liabilities 

 
Rs. 

 
Assets 

 
Rs. 

 
General Reserve 

 
  20,000 

 

Sundry Assets 

 
  1,70,000 

Creditors 

 
  95,000 

 

Debtors 

 
  10,000 

 

Capitals:     

P   25,000 Bank balance 

 
  20,000 

Q   60,000   

 2,00,000  2,00,000 

   

Adjustments:  
(i) Depreciation on sundry assets 10% 

10% 
(ii) Make a provision on Debtors 5% 

 5% 

(iii) Buildings Rs. 80,000 included in sundry Assets now 20% more. 

20%  
Prepare Balance Sheet after above adjustments. 


(OR) 

     (b) Define Goodwill and explain its treatment in the books account on admission of a new 

           partner. 





10.  (a) A,B,C and D were partners. Sharing profits and losses 5:4:3:2. On 31-03-2010 they decided to 

dissolve the firm. Following balance sheet on that date. 

           A,B,C D 5:4:3:231-03-2010 
Liabilities 

 
Rs. 

 
Assets 

 
Rs. 

 
Creditors 

 
  18,000 Cash       900 

  Debtors    20,700 

Capitals: 

 
A      54,000 

B      36,000 

C      5,400 

         

 

 

 

 

 

  95,400 

               

_________ 

1,13,400              

Plant & Machinery 

& 
 

D’s capital 

D  

  90,000 

 

 

   1,800 

 

 

_________ 

1,13,400 
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       Except cash all other assets realized for Rs. 56,700. Creditors actually payable Rs. 21,600.  

       Realizations exp Rs. 5,400. Close the books of the firm by passing journal entries. 




(OR) 
     (b) What is Realization Account? How does it differ from Revaluation Accounts? 
                 



11. (a) Explain the guidelines issued by SEBI for issue of Bonus shares. 

           SEBI


(OR) 
(b)  ‘X’ company Ltd., Was registered with a capital of 10,00,000 divided into 40,000 shares of 

     25 Rs. each. The company offered to public subscription 25,000 shares payable as follows. 

     ‘X’ 
 
  

 

 

 

 

 

 
       

The company received application for 20,000 shares. All the money was duly received. 

Make journal entries to record the issue of shares and show how share capital will appear in     

the Balance Sheet. 





 

12. (a) Prepare Balance Sheet of Spandana company limited from the details on 31-03-2012. 

       
Debit 

 
Rs. 

 
Credit 

 
Rs. 

 
Call in arrears 

 
5,000 Share capital 

 

2,50,000 

Plant & Machinery 

&  
83,815 General Reserve 

 
15,000 

Closing stock 

 
91,500 Creditors 

 
20,000 

Debtors 

 
3,800 Outstanding wages 

 
5,200 

Cash at Bank 

 
1,39,700 Salaries 

 
1,200 

Prepaid insurance 

 

1,680 Rent  600 

  P & L A/c  12,000 

  Net Profit  21,495 

 3,25,495  3,25,495 

     Contd…..4 

 Rs. 

 
On Application  5 

On Allotment  10 

On 1
st
 call   5 

On 2
nd

 call  5 



 
:: 4 :: 

 

 Additional information: 

 
(i) Proposed dividend Rs. 9,000 to be provided 

 
(ii) Transfer to General Reserve Rs. 6,000 


(OR)

(b) ‘X’Ltd was incorporated on 1
st
 August 2012 to take over a running business from 1

st
 April 2012.  

 The profit and Loss Account of the company for the Year ended 31-3-2013 was as under. 

 X
 
 

Expenditures 

 
Rs. 

 
Incomes 

 
Rs. 

 
To Salaries 

 
25,000 By gross profit 

 

70,000 

To Rent and Taxes 

 
8,000   

To Bad debts 

 
700   

To Audit fees 

 

500   

To Depreciation 

 

1,200   

To Discount allowed 

  
4,600   

To Net profit 

 

30,000   

 70,000  70,000 

     Sales from 1
st
 April 2012 to 1

st
 August 2012 amounted to 70,000 sales from 1

st
 August 2012 to           

     31
st
 March amounted 2,10,000. Ascertain capital profits and Revenue profits. 



   
13. (a) What is the importance of valuation of shares? Discuss various methods of share valuation. 

      
(OR) 

(b) From the following information find out Goodwill under 4 years purchase of super profit and      

      capitalization of super profit method. 

      Net profit for four Years. 

      I Year Rs. 60,000; II year : Rs. 80,000 III Year 100,000, IV year Rs. 1,60,000. The profit     

      includes non recurring profits on an average of Rs. 4,000. Investments Rs. 1,60,000. Normal  

      rate of Return 5% Proprietor’s Remuneration per annum Rs. 12,000. 
 







 


